AnaptameHT 1

BXo/: A

eTax: 1

TWM: TPUCTaeH

4r/P3M: 116.25/135.98 m?

A
Ve

N
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A-TP-09
30.71 m*
] TAPAX 9

e 24.39 m?

3aTBOpeHa nrowy
86.91 m?

2935m?




AnapTtamMmeHT 5

BXo/: A

eTax: 2

TWM: TPUCTaeH

41/P3MT: 85.20 / 99.66 m?

A-AN-05

85.20 m?

ATTAPTAMEHT 5

25.86 m?




AnapTtameHT 10

BXo/: A

eTax: 3

TWM: TPUCTaeH
4r/P3M:92.18 /107.82 m?

26.83 m? 14.36 m*

A-A-10
92.18 m?
ANAPTAMEHT 10

7.42m?




AnaptameHT 17

BXo/: A

eTax: 4

TWM: TPUCTaeH
4r/P3M:92.18 /107.82 m?

| A-AM-17 |
92.18 m?
_ AMAPTAMEHT 17

14.36 m*




AnapTtamMeHT 19

BXo/: A

eTax: 4

TWM: TPUCTaeH

41/P3MT: 85.20 / 99.66 m?

A-A-19
85.20 m?
ANAPTAMEHT 19




AnapTamMeHT 22

A-AM-22
84.04 m? —

: AMAPTAMEHT 22 ““™™
BXo/: A

eTtax: 4
TWM: TPUCTaeH
Yr1/P3M1: 84.04 / 98.29 m?




AnapTtamMeHT 24

BXo/: A

eTax: 5

TWM: TPUCTaeH
4r/P3M:92.18 /107.82 m?

A-AT-24
92.18 m?
_AMAPTAMEHT 24

14.36 m?




AnapTamMeHT 26

BXo/: A

eTax: 5

TWM: TPUCTaeH

41/P3MT: 85.20 / 99.66 m?

A-Al-26
85.20 m?
ATMAPTAMEHT 26

25.86 m?




AnapTtamMeHT 29

BXo/: A

eTax: 5

TWM: TPUCTaeH

Ul1/P3MT: 84.04 / 98.29 m?2

13.77 m?

A-Al-29
84.04 m?
AMAPTAMEHT 29




AnapTtamMeHT 36

BXo/: A

eTax: 6

TWM: TPUCTaeH

Y[1/P3MM: 84.04 / 98.29 m2

A-Al-36
84.04 m?
AMAPTAMEHT 36




AnapTtameHT 37

BXo/: A

eTax: 7/

TUM: YeTpUCTaeH

4r/P3r: 151.59/177.31 m?

446m*

27.34m?

2915m?

A-AN-37
151.59 m?

3.75m?

ANAPTAMEHT 37
3atBOpeHa nnowy
112.49 m2

d




AnapTtamMeHT 43

BXo/: A

eTax: 8

TUM: YeTpUCTaeH

Yl1/P3MMT: 263.53 / 308.23 m?2

A-AN-43
263.53 m?
ANAPTAMEHT 43

lM

16.40 m*




AnapTameHT 44

BXo/: A

eTax: 8

TUM: YeTpUCTaeH

Yr1/P3MM: 191.19/ 223.61 m2

=" A4
19119 m?
MAPTAMEHT 44
3aTBopeHa nnowy

115.46 m2

16.97 m?

32.55m?

A

5747 m?




AnaptameHT 1

BXo/: b

eTax: 1

TVM: ABYyCTaeH

4l1/P3M1: 90.57 / 105.94 m?2

ANAPTAMEHT 1
3aTBopeHa nnoLy
67.50 m2

3040 m?

23.07m*

B-TP-11
20.70 m?
[APAX 11

_—
1.30 m?

4.32m°

14.49 m?




AnapTamMmeHT 2

BXo/: b

eTax: 1

TVM: ABYyCTaeH

4l1/P3MM: 81.40 / 95.21 m?2

B-Ar1-02
81.40 m?
AMNAPTAMEHT 2

3aTBOpeHa nnowy
52.64 m?
20.56 m?

~

28.76 m?




AnapTtamMeHT 3

BXo/: b

eTax: 1

TWM: TPUCTaeH

4r1/P3M: 96.51 /112.87 m?

B-AM-03
96.51 m?
AMNAPTAMEHT 3

3aTBOpeHa nnoLy
72.33 m2
[

21.63 m?




AnapTtamMmeHT 5

BXo/: b

eTax: 2

TWM: TPUCTaeH

4r/P3MM: 9498 /111.08 m?

14.43 m?

395m?

B-Ar-05
94.98 m*

14.82 m?

ANAPTAMEHT 5

28.75m?




AnapTamMeHT 6

BXo/: b

eTax: 2

TWM: TPUCTaeH

4r/P3M: 91.86/107.44 m?

8.32m?

B-Ar-06
91.86 m?
ANAPTAMEHT 6

-

30.08 m?




AnapTtameHT 7

BXo/: b

eTax: 2

TWM: TPUCTaeH

4r/P3M: 95.51/111.72 m?

B-AMN-07
95.51 m?
AMNAPTAMEHT 7
3atBOpeHa nnoy
80.84 m?




AnaptameHT 41

BXo/: b

eTax: 8

TVM: ABYyCTaeH
Yr1/P31M:91.87 / 107.45 m2

91.87 m? 3atBOpeHa nnowy
AMAPTAMEHT 41 54.00 m2

2491 m?

12.36 m?

35.20 m?



AnapTamMeHT 36

BXoa: [

eTax: 8

TWM: TPUCTaeH

Yr1/P3MM: 154.93 /181.20 m2

8.93m*

11 m?

172m?

P

41.76 m*

154.93 m*
ANAPTAMEHT
3aTBoOpeHa nnowy
91.75m2

26.98 m? I_

r

g
-




1241 m?

3.82 m?
267 m? 8.92 m 12.30 m?
AnaptameHT 51
@

Bxo/: B
eTax: 8 B-Al1-51

90.84 m?
TUN: TPUCTaeH 20,96 m?

AMAPTAMEHT 51
4r1/P3M:90.84 / 106.24 m? 3aTBOpEHa nnoLy
7517 m?

15.67 m?
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